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1. Select the number from among the given options that can replace the question mark (?)
in the following series. 19, 23, 32, 48, 73, ?

2. In a certain code language, ‘ARROW’ is written as ‘FOOSE’ and ‘GERM’ is written as
‘THOR’. How will ‘MOWER’ be written in that.

3. Select the letter-cluster from among the given options that can replace the question mark
(?) in the following series. SKH, PMG, MOF, JQE, ?

4. Eightfriends, A, B, C, D, E, F, G and H, are sitting in a straight line, all facing the north. F

is sitting between D and G. B is sitting between H and A. E is third to the left of G. G is

sitting at one of the corners. H is third to the left of C. Who is sitting between A and E?

R+S’ means ‘R is the daughter of S’. ‘R-S’ means ‘R is the husband of S’.'R x S’ means

‘R is the brother of S’. If ‘T x V + Z*; then which of the following options is true?

Sarayu river is a tributary of which river?

Who among the following represents India in archery?

In a molecule of water, the ratio of the mass of hydrogen to that of oxygen is:

Which of the following institutions started the "Team Halo' initiative in November 20207

O Which of the following is the traditional bamboo dance of the Mizos?
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